H & 0l & AHS B Ml A

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

ZH 39,578,279 33,983,247 5,895,032
22,313,637
1,109,908
4,057,222
12,097,512

oW

=

=D |ZME2H 28,609,395 23,169,572 5,439,823

22,298,276
381,338
2,850,145
3,079,636

oW

=

IZHEEE =0 24,652,976 19,374,297 5,278,679

19,701,987
2,451,870
2,499,119

mhoH

=

= 24,362,700 19,101,250 5,261,450
19,490, 160
2,436,270
2,436,270

Mo

=

301 Et2E = 24,362,700 19,101,250 5,261,450
19,490, 160
2,436,270
2,436,270

Mo

=

1T ARIER A GIS (2 DEZE) 24,362,700 19,101,250 5,261,450
I ZHEEE dAHSO 24,362,700

19,490, 160
2,436,270
2,436,270

hoH

=

(o FESPS =10 156,000 140,000 16,000
124,800
15,600
15,600

hoH

=

301 LeEN= 156,000 140,000 16,000
124,800
15,600
15,600

o

=

SR 63 (2 REZ) 156,000 140,000 16,000
I =MEEE HAMEHSAH 156,000

124,800
15,600
Al 15,600

hoH

IIEMELZR NS20] 45,749 44,520 1,229
C

NS0 45,749 44,520 1,229
W[ 20HetE X 45,749 44,520 1,229




A SXNEH
Mo 20| EMBEY
Celr JI=MEEE S0 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| J1zaz=z ns30 45,749
x5 At dAHS0(XHA) 1,500 1,500
201 eet23| 1,500 1,500
01 Al 22| 1,500 1,500
MEDRSIAS Y AAST
100,000 x5& x32] 1,500
YRR (XA AlZZ ) 87,027 87,027 0
= 87,027
201 fer23y| 87,027 87,027 0
= 87,027
01 At2telt] 87,027 87,027 0
YRA=EHHEIXIZ 87,027,000 *13] 87,027
= 87,027
A& 2,769,799 2,722,257 47,542
= 2,030,189
[ 116,034
= 288,466
Al 335,110
NE2Z, NANEHE U ZARBLAHSI(AZ, 2 1,809,238 1,671,876 137,362
2)
= 1,447,390
S 180,924
Al 180,924
101 @124H| 160,000 160,000 0
= 128,000
< 16,000
Al 16,000
M ORINZZ2NSE S 160,000 160,000 0
XE22 AP (XX el 24 160,000
= 128,000
s 16,000
Al 16,000
201 2egh=3| 1,000 1,000 0
= 800
=S 100
Al 100
01 AtR2tc|Hl 1,000 1,000 0
ANEZZAY 24 1,000
= 800
= 100
Al 100
202 04| 5,000 5,000 0
= 4,000




2A:

X XH -
o=

=Rl A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 500
Al 500
01 2LHoIH 5,000 5,000 0
22 AHY ol 5,000
= 4,000
S 500
Al 500
206 M=l 1,200 1,200 0
= 960
== 120
Al 120
01 M= Hl 1,200 1,200 0
AEZZAIY MESH 1,200
= 960
=S 120
Al 120
307 212+01& 1,642,038 0 1,642,038
= 1,313,630
=S 164,204
Al 164,204
05 git?(& = 1,642,038 0 1,642,038
AEZZAIY QIS AN 1,642,038
= 1,313,630
= 164,204
Al 164,204
22, NExady & Z29iadH2g(Azdy 345,440 328,718 16,722
)
= 241,807
= 51,817
Al 51,816
307 @120l & 345,440 328,718 16,722
= 241,807
= 51,817
Al 51,816
10 Al SXAAEEHE 22X 305,648 291,498 14,150
AGitade 29 305,648
= 213,953
= 45,848
Al 45,847
11 AMEISXAIEEXS 39,792 37,220 2,572
S|LIISSE Atdll2el At 39,792
= 27,854
= 5,969




A SXNEH
Mo 20| EMBEY
=Rl A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 5,969
22, NANEHE o ZAVEHESSNZ A 31,477 30,708 769
21)
= 22,034
= 4,721
Al 4,722
307 @120l & 31,477 30,708 769
[ 22,034
= 4,721
Al 4,722
11 AMEISXAEEXS 31,477 30,708 769
At At 22 31,477
[ 22,034
= 4,721
Al 4,722
NSRS HE (HRHL, HASA!) 18,120 15,960 2,160
= 5,436
Al 12,684
307 @120l & 18,120 15,960 2,160
== 5,436
Al 12,684
10 AlRIS XA EEE 22X 18,120 15,960 2,160
NS THEEE SAG M0 10,560
< 3,168
Al 7,392
KNS THEEE SAEL ZAZAHI 7,560
= 2,268
Al 5,292
Xa2 2 AP (XHAI) 5,300 5,300
201 et 3| 5,300 5,300
01 AtR2te|HI 800 800
NEANE RSAH HETH 100,0002 8% 800
2 S5=2g4l 4,500 4,500 0
2E=X4H AIER X 4,500
XNATEE ASIMEIA SXHAIE (OFARE) 134,000 134,071 AT
= 94,000
[ 20,000
Al 20,000
308 XXM SOIA 134,000 134,071 AT
s 94,000
== 20,000
Al 20,000
13 SI[2SOHe & EAS A 134,000 134,071 AT




S SXEBD
gﬂ; :DI]|5:AH§I—E’_II»

=Rl A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIAIEEERE AMHIA 134,000
= 94,000
== 20,000
Al 20,000
22SAA=LZ AL LSS (A ) (AT 496,224 535,624 109,400
HE3)
= 340,992
& 25,568
Al 59,664
308 XXM SOIA 426,224 535,624 109,400
= 340,992
s 25,568
Al 59,664
13 SI[2SOHE & EAS A 426,224 535,624 109,400
M X2 S 426,224
= 340,992
S 25,568
Al 59,664
282X X&d| 1,070,816 964,308 106,508
= 566,100
= 204,875
& 99,234
Al 200,607
==X 698,250 488,500 209,750
= 558,600
< 69,825
Al 69,825
301 LELEE S 698,250 483,500 209,750
= 568,600
=S 69,825
Al 69,825
01 Al 2E AL S(FRDEXM) 698,250 483,500 209,750
2Ig=X X2l 698,250
= 568,600
= 69,825
Al 69,825
SEAHIZt2IAL 214H] X~ 104,184 101,628 2,5%
[ 52,092
= 15,628
Al 36,464
101 212A4H| 87,184 86,828 356
[ 43,592
= 13,078




2A:

E M

SINESES N}

=201)| A=t A

el 5= K&l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 30,514

03 SRA(RIH )22 HE S 87,184 86,828 356

SEAIZEIAL QA (S 2H)

43,592,000 22 87,184
[ 43,592
= 13,078
Al 30,514

202 04| 4,000 4,000 0
[ 2,000
= 600
Al 1,400

01 =LHOHI 4,000 4,000 0

SE A2 eIAL EE 0]

2,000,000 x2H 4,000
[ 2,000
= 600
Al 1,400

M4 HASFEESS 13,000 10,800 2,200
[ 6,500
= 1,950
Al 4,550

04 SR (RIH )22 BEE=RES S 13,000 10,800 2,200
SEAIZ2IAL AU EE(OIZRES) 13,000
[ 6,500
= 1,950
Al 4,550

SE=SAXNSANAY 2SN 22,822 21,735 1,087
= 6,847
Al 16,975

201 fer=2 3| 22,822 21,735 1,087
s 6,847
Al 15,975

01 At2t2l] 22,822 21,735 1,087
AFIISANFE 2 22,822
[ 6,847
Al 15,975

AZ7 SEAtdlZel X 14,644 14,644 0
= 7,322
Al 7,322

201 fer23| 7,322 7,322 0
[ 3,661
Al 3,661

01 AFS2t2ltl 7,322 7,322 0




2A:

E M

SINESES N}

=201)| A=t A

el 5= K&l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Atell 22Nt Y 29 7,322 %1,000 7,322
= 3,661
Al 3,661
301 EtE2 NS 7,322 7,322 0
[ 3,661
Al 3,661
01 Al EE AL S(FRDEXH) 7,322 7,322 0
Atefl2e| ot X1 7,322
[ 3,661
Al 3,661
SHS X5 SEAHIA X 207,802 157,801 50,001
= 145,461
Al 62,341
201 er2 3| 103,900 78,900 25,000
= 72,730
Al 31,170
01 AtR2t2|HI 98,224 73,224 25,000
SHES Aldl2el X2 22 98,224
[ 68,757
Al 29,467
2 352484l 5,676 5,676 0
SHE Aldizel X 2g(s4l)
23,6503 *20CH* 123 5,676
= 3,973
Al 1,703
301 EtE N = 103,902 78,901 25,001
[ 72,731
Al 31,171
01 Al EE A S(FREXH) 103,902 78,901 25,001
SHS Atdl2el X 103,902
[ 72,731
Al 31,171
LSA fIE2 K& 15,000 0 15,000
= 7,500
< 4,500
Al 3,000
307 212+01& 15,000 0 15,000
= 7,500
=S 4,500
Al 3,000
11 ARRIS XA E X 15,000 0 15,000
ASA fIg2 X 15,000
= 7,500




2A: SXEA
Hu: BOD|EMSEY
chel: 2122 X KK (crol: M el)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 4,500
Al 3,000
JSAFAICHRAE MUIA X 8,114 0 8,114
& 2,434
Al 5,680
201 LBt2AY| 8,114 0 8,114
T 2,434
Al 5,680
2 S=29| 8,114 0 8,114
OSAF AR AR MHHIA K& 8,114
T 2,434
Al 5,680
ZESI|ISAIH 115,804 108,710 7,04
= 60,429
T 10,575
Al 44,800
OIS HSAIY S (XHA) 40,268 35,374 4,894
101 214 d| 40,268 35,374 4,894
03 BRA(RIHL) 22X B4 40,268 35,374 4,84
o220 &2IAHBLE) 40,268
~HoHZ A 140,000 x2H + 12& 3,360
-WE2 A 70,0003 =2« 12& 1,680
s 3,960
el 30,000& x2Z »12H 720
-SclFdE 20,0003 «2Y =123 480
—HIL 2 AtH| 3,759
. 285 E(184) 127,920 x1H 15 1,919
052 (74) 122,640 1H 15 1,840
-EEZIH| 6,533
. B852(184) 1,662,600% 1 *23] 3,326
. 055(74) 1,603,200 *1Z *23] 3,207
-HI2s 4,642
2Bz =(184) 1,385,500& *1H *23] 2,771
. 083(74) 935,200 1% +23] 1,871
-S4 Otg 1,560
. 85 5(184) 80,0003 x1H 123 960
03=(74) 50,0003 x1E 123 600
A2t 2RE 1,274
. B852(184)
23,980& *20A| 2tx1H + 123 5,7%
. 083(74)
22,990 *20A| 2+ 1B * 12042 5,518
JIEHAZE 8) 2,300




S SXEBD
M 20| ZMBIE

Sl 2A=E EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
At 2RI EE AN L (A2 2 S22l AL) 75,536 73,336 2,200

= 60,429
== 10,575
Al 4,532
101 e124d| 65,336 63,736 1,600
= 52,269
=S 9,147
Al 3,920
03 SR (RIH )22 UHE 4 65,336 63,736 1,600
oz2g0ZelAHSRE) 65,336
a=r=1t! 65,336
= 52,269
=S 9,147
Al 3,920
WM H=sEE=S 10,200 9,600 600
= 8,160
=S 1,428
Al 612
M BRA(RIHY) 22N BEEERE=s S 10,200 9,600 600
g0zl AHEE (DI 2RE2) 10,200
[ 8,160
= 1,428
Al 612
NS AR S A A2 4,472,602 3,8%,675 576,927
= 15,361
[ 728,570
= 210,646
Al 3,518,025
A2ISX MBI A ghat 1,732,004 1,425,254 306,750
= 15,361
s 728,570
== 200,702
Al 787,371
MEI=XIEelel X 126,766 108,800 17,966
307 212+01& 126,766 108,800 17,966
02 LB HAHEE 5,000 5,000 0
AISXIAIE = AKX 2t 5,000
03 2N EE2SHIEX 121,766 103,800 17,966
A2I=RELs 29 121,766
-AEI=XIE2lgl Q12| 99,619
-At2l=XE2g 24| 22,147
NETEE MSIMHIA SEXAIL (XISALE HHIA) 789,572 789,572 0
= 562,700




2A:

X XH -
o=

=XIE R}
NEWCEV I

Rl ARSI MHIA ghat (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 118,436
Al 118,436
201 er23| 2,151 2,151 0
= 1,505
== 323
Al 323
01 AtR2t2lt] 2,151 2,151 0
NSARIAHI A SXAFY OHEE HIA &
MBI AMEIE X2 2,151
= 1,505
== 323
Al 323
402 QI2F X201 & 787,421 787,421 0
s 551,195
== 118,113
Al 118,113
03 2IZHAETAIHHI 787,421 787,421 0
XSS MBI AETIALY 2SI 787,421
= 551,196
= 118,113
Al 118,113
NS ASI MHIAS A (HH0ISAHL X R ALL) 2,954 5,000 N2,046
= 2,068
S 443
Al 443
308 AtAIEHMSOIE 2,94 5,000 A2,046
[ 2,068
S 443
Al 443
18 SIS0t HAS A 2,94 5,000 A2,046
KNSR SEMEI MBI ASETAIS (BHE0IS
AL XRAY) 2,94
[ 2,068
== 443
Al 443
A=ISX8 & AL K13 21,500 31,500 10,000
201 fet= 3| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
A2ISX 28 RSA ZE I
100,000& %15 1,500
307 lztol & 20,000 30,000 10,000
04 QIZHHAIAIRH 2 & 20,000 30,000 10,000
M7=l SSAl Al2ISXIAL & J|E A 5,000
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2A:

SINESES I}

M NSAEISX X
Rl ARSI MHIA ghat (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 97
=S 97
301 EtE N = 528 480 48
= 264
< 264
11 #AIAMHIXIZ S 528 480 48
425 ZLHE S &2 NHAN 24 528
= 264
= 264
NeAtz 28N 28 43 X2 28,380 17,000 11,380
< 8,514
Al 19,866
307 glztol & 28,380 17,000 11,380
= 8,514
Al 19,866
02 2IZHBYAIHE & 25,500 17,000 8,500
KNSAM2HEAM 2dstAt 25,500
= 7,650
Al 17,850
10 Al SXAEEE 22X 2,880 0 2,880
NSAMSI2HE M 22X X 2HA 2,880
& 864
Al 2,016
sSde s8N 12,067 36,200 N24,133
= 3,620
Al 8,447
301 LEtE N = 12,067 34,200 N22,133
= 3,620
Al 8,447
03 A2 E A0S (XL THH) 12,067 34,200 N22,133
SHE =83 12,067
== 3,620
Al 8,447
A= Tloh Ol #5 XIS 13,335 0 13,335
= 13,335
301 EetE NS 13,335 0 13,335
== 13,335
02 ARSI 2 X LGS (FHAAHS, W) 13,335 0 13,335
H SSSUFH U= & 220 13,335
= 13,335
NANEE AMSIMHIA EXAS (LM EE MHIA ALY 248,288 0 248,288
)
= 173,802




2A:

SINESES I}

PSP BN IS=UN =1 YN INE-]
= N =1 E==JN RV = | =1 (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 37,243
Al 37,243
201 LBH2AH| 10,000 0 10,000
= 7,000
T 1,500
Al 1,500
01 AtR2elt] 10,000 0 10,000
AAMES AEHIA MY EEEE HE 10,000
ax 7,000
T 1,500
Al 1,500
308 AXIEHMSOIN 238,283 0 238,288
oy 166,802
T 35,743
Al 35,743
13 BI| 2 SHIHEHE & &2 ALY 238,288 0 238,288
KNS ASHUIAEXAISE (LA ESA
HIAAIS) 238,288
iy 166,802
T 35,743
Al 35,743
S22 IloH OBl SZUCHE X2 11,250 0 11,250
= 11,250
301 LPENZ 11,250 0 11,250
T 11,250
P2 A BEHHZ(HAHS, NYHA) 11,250 0 11,250
H 2208 iz ¥ 22l 11,250
& 11,250
NESHES AMSIABIA FHAX KA 30,000 0 30,000
= 15,000
T 7,500
Al 7,500
307 2I2+01™ 30,000 0 30,000
= 15,000
& 7,500
Al 7,500
11 AL =SXAMEES 30,000 0 30,000
NETESE A AHIA F X KJAY 30,000
= 15,000
& 7,500
Al 7,500
M2EX AldEE & TR 2,211,132 1,970,584 240,548
T 9,944




2A:

SINESES I}

PSP BN IS=UN =1 YN INE-]
&2l AIRIEX AldEs 2 K- (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 2,201,188
HESEAIEEXS 29 705,280 714,553 29,273
307 212+01™ 693,950 681,753 12,197
05 It/ g 621,850 609,653 12,197
FESS AR =X 2 2 621,850
11 AR SXAMEE R 72,100 72,100 0
YESEAE S SXIALS 72,100
402 QI2H X201 ™ 11,330 32,800 221,470
01 QIR A 2 (RHRITH ) 11,330 32,800 A21,470
FRESAZ =N Z I SEZALY 11,330
AMIEXAIE 22X A0S L X(EX) 23,067 25,560 A2,493
T 6,920
Al 16,147
307 212+01™ 23,067 25,560 A2,493
& 6,920
Al 16,147
10 AIEISXAEHE2ZHIEX 23,067 25,560 22,493
YESEAE SR 2 SAR HRIH&H| 15,507
= 4,652
Al 10,855
FRESEAIZ =SR2 SALA A=A 7,560
& 2,268
Al 5,292
o0 Ax12% X# 78,031 67,111 10,920
307 2I2+01™ 78,031 67,111 10,920
03 IZIHNEE2IHIE X 78,031 67,111 10,920
ZE0E 2 78,031
-E 0B 29| 37,900
-FEE 013 oAyl 40,131
KGASI SR 2E(ASIS XA BE4=1=H]) 15,120 15,120 0
T 3,024
Al 12,096
307 212+01™ 15,120 15,120 0
& 3,024
Al 12,096
11 Al SXAMEE X 15,120 15,120 0
MSISXIAF B S| 15,120
= 3,024
Al 12,096
M2 X (MEAI) 1,200,000 960,000 240,000
301 YPENZ 1,200,000 960,000 240,000
10 Al =SRLABAZS 1,200,000 960,000 240,000
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2A:

SINESES I}

M NSAEISX X
9l HEAISEAISIENZ 2% (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 31,500 31,500
01 It =S F = 31,500 31,500
TEAZIEX2 WEESAIY P 31,500
SESEARSAZ HI=SAHE 22 94,574 94,902 A328
101 @12A4H| 9,954 9,702 252
04 JIZtN2 2N S 2+ 9,94 9,702 252
TIPS (L) LA QIR
79,0003 x23 48! 7,584
WIS (HESA) LAIASAL
79,0002 x 10«3 2,370
201 Ler23| 30,220 30,800 2580
01 At2teltl 23,920 24,800 A880
MEXdH 28 85 7L
600, 00024122 7,200
e TR0 YASY
110,000& #23| x38=+211 = 16,720
2 35284l 6,300 6,000 300
2EHE % MAI(9%5014836) 1,300
12 23H1(95014836) 5,000
202 048l 3,000 3,000
01 2L AL 3,000 3,000
MIF=EX gR=8 oy 3,000
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